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1. Determine which sequences are arithmetic. If it is, state the common difference:

Chapter 7.1 Arithmetic Sequences Classwork

a)l,59,13,17, .. b) 3,6,12, 24, ...
Ves, J=4 o,
c)3,7,13,17, 23, 27, ... d) 59, 48, 37, 26, 15, ...
no. Ves, 7= =/l
2. The 10" term of an arithmetic sequence is 29 and the 11'" term is 41. What is the 12'" term?
7~ 91-29 oot = M2 = 53
J=12
3. For each arithmetic sequence, determine the general term t,, and ¢ . 7-[/1 = o + (/l-f )a(
a) 35, 40, 45, ... b) 31, 20, 9,...
J=5 4= 35¢(n-1)5 d~—11 2,5 31+ (a-0(1)
o o~ 35 +51-5 o~ >3 £ys 3 —lla = U
é/):. 5-/]+g‘) g/'lq- 5‘2"”/\
4, Sl)rse 42 b )
4, = 85 4,< =79
c)-29,-41,-53, ... d) 0.4,0.57,0.74, ...
fjt#(g 'sznjhgc?"‘ //}_1)/_";) O{Q@."FP ff.':@‘?* (Aﬂ)/@'”]
o AT fye =37 - 22 wr0d g PG O 0D
Lo dn =17 2,2 Oul7, + O.23
A
&~ =2(1)=17 £, = O)* 025
érr’ ”/Lf7 éu *Q-(

4. Determine the number of terms in each arithmetic sequence. (example 3 in the notes)

a)7,9,11,13, .. 63 / b) -20, -25, -30, ... , -205

J= 2 ; - J=-5 ~2o57= ~20 ¢+ (2-1)(-5)
o= é; =Z+/ﬁ 1’)(9) a =~do Toe o TEO
£ st = (a-)0) S 1gs= (n=1)(-5)
= a =3 =
A



¢) 9, 16, 23, 30, ... ,100 d) 28, 19, 10, 1, ..., -44

J=7 lco= G+ (a-1)(>) J= -9 ~19 - Q8+ /n-—f)[——?)
“ﬁf‘“] 19 = (/?"')/7) o~2Y 72 {
— = A~ )/ =
ﬁﬂﬂ(l) {3_‘_/)_{ ,Qﬂ:u/f; )( Df)
= N—/
/9=~ ]

7=n

5. An opera house has 27 seats in the first row, 34 seats in the second row, 41 seats in the third row, and so on.

The lastrow has 181 seats. . _ 5 —
oo 18 > d="/

a) How many seats are in the 10" row? b) How many rows of seats are in the opera house?
—_— _
5/ = 52“7 -
éoz 27+ (te-1)(7) /81 « (2=1)(>)
( /SY < (A-1)(>)
- X7 *+L3

QL= -

é i (23—

6. Janice gets a job and starts out earning $9.25/h. Her boss promises her a raise of $0.15/h after each month of
work. When will Janice start earning at least twice her starting wage?

o~ 135 N

d =15 [ .5 -:‘225 —f/ﬁ‘/)/cﬂ(b']

£, dnble 195 905 = (1-1) fo.r5)

— | §. _
is 5K6 = /] “/ ) 62

7. The 50th term of an arithmetic sequence is 238 and the 93rd term is 539. State the general term.

éfo - 237 539 = a f/fs’—Oo( — w od Jooe th
4+ 539 - (c’l 365= a - /5‘0“})0() Samt  fo cubtrct Crieton
73 T ’

. SOl = Z/Bc(’
93

£,z o5 +(n=1)(7)
ty= ~lo5+ /-

‘- @ bk & o cgfins
f/}f 7/1‘“//@_

539 = o€ (72)(7]

c\_,( 53? = A€l
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